2.NBT.A.2: Counts within 1000; skip-count by 5s, 10s, and 100s.

Count by 2s to fill in the missing numbers in the table.

2 3

20

24 28

40

Finish these number patterns by counting 2s.

) ] 141
, 36, , 42

, 24
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2.NBT.A.2: Counts within 1000; skip-count by 5s, 10s, and 100s.

Answer Key

Count by 2s to fill in the missing numbers in the table.

2

A

6

8

10

12

14

16

13

20

22

24

20

28

30

32

34

30

38

40

30, 32, 34, 36, 38, 40, 42
16118129122’241Z§’Z§
12, 14, 16, 18, 20, 22, 24
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Finish these number patterns by counting 2s.

4,6,8,10,12, 14, 16




